Elecholoice’ massssssss—
Mb200

And Mb200W

Installation Kit

e Mounting kit for System™ 200
speakers

e May be used in conjuction with
OmniMount® Series 100 support
system?

» Versatile design allows the
speaker to be aimed at any angle
from wall or ceiling

e Provides a rigid frame for flying
one or two speakers

e Creates arrays of two to six speak-
ers when used with the M, 300
Horizontal Array Kit

in a rigid frame which has structurally sound Kit (see Figure 6). The array is extended by
locations for attaching rigging hardware. using one additional \200 bracket and one
These attachment points are four 12.7-mmM 300 kit for each additional speaker. To
The M,200 installation kit consists of a (Y.-in.) diameter holes located on the endscomplete the circle for a six speaker array,
U-bracket, two M8 x 1.25 hex-head bolts, Of the bracket. A/-in. “quick link” (or simi-  one additional NBOO kit is required. Please
four lock washers, two friction pads, and two lar hardware) can be readily connected torefer to Chart 2 to select the exact number of
3 -24 hex-head bolts (see Chart 1). The kit each attachment point. each kit needed, based on desired array size.
is designed to accommodate the SystemSystem 200" speakers can be flown indi- (Note: refer to NB0O Horizontal Array Kit
200 installation in a variety of ways. vidually in either a horizontal or vertical po- €ngineering data sheet for detailed instruc-
Wall or Ceiling Mounting: sition, or two speakers can be flown togethertions on System 200 horizontal array con-

in a vertical position (see Figures 4 and 5). struction using N200 Installation and
M, 300 Horizontal Array Kits.)

Description

The robust design of the B0O installation
bracket allows the System Z80speakers System 200" Horizontal Arrays

to be mounted in almost any position to ob- Arrays of two to six speakers are securely
tain the desired sound coverage (see Figuresupported in a frame comprised of 200

3). and M300 brackets. To create a horizontal
Flying Installations array, two M200 brackets are simply locked
into the correct alignment position using the

The M 200 bracket “captures” the speaker _
brackets from the 800 Horizontal Array

CHART 2: Kit Requirements for

CHART 1: M200 Installation Kit Parts List System 200 ™ Horizontal
Array Construction

Item Description Quanity PartNumber # of Enclosures # of Kits Req'd
A Bracket 1 71914 in Array: M 200 | M, 300
B M8 X 1.25 hex head bolt 2 63310 2 2 1
C 5/16 split ring lock washer 2 38144 3 3 2
D 3/8-24 hex head bolt 2 63311 4 4 3
E 3/8 splitring lock washer 2 38834 5 5 4
F Frictionwasher 2 38829 6 (complete circle) 6 6




Mb200/Mb200W Installation Kit

Mb200/Mb200VWV Installation Kit

] i Mb200 SPECIFICATION GRAPHICS
Wall Mounting Instructions

FIGURE 1 —Attaching M, 200 Bracket

CAUTION: Due to the weight of System
200™ speakers, it is imperative that the
M, 200 bracket be properly secured to the
wall or ceiling. The choice of fastener (not
provided with this kit) will be determined
by the material and construction of the
mounting surface.

to System 200™ Speaker (exploded view)

1. Referto Figure 1 for the following steps.

2. Remove the paper backing from one of
the friction pads (F) and, making sure the
holes are aligned, attach to the U-bracket (A)
as shown. Attach the second friction pad in
a similar manner.

3. Attach the U-bracket to the wall or ceil-

ing using fasteners (not supplied) that are
suitable for the construction material.

4. Remove the hole plugs from the ends of
the System 200 speaker by gently prying 7
with a small screwdriver. J

5. Place one of the smaller lock washers

10.87 in. (276 mm)
(C) on each of the two M8 bolts (B).

FIGURE 2 — Mb200 Installation Kit Dimensions

’7 22.90 in. (582 mm) 4‘

0.33in. (8 mm)
3/8-24
Xg\ Vs
z g

\0.33 in. (8 mm)

6. Place the speaker into the U-bracket and

o
0.5 in. (13 mm)—=*_0

finger tighten the M8 bolts.

7. Rotate the speaker so that the input
panel is accessible and attach the wires to
the input panel.

8. Position the speaker for the desired cov-
erage and gently tighten the M8 bolts until

8.0in.

24.90in. (632 mm)J

(203 mm) [ (203 mm) | |

3.69 in. (94 mm)—i

HOLE PATTERN FOR OmniMount”

8.0in. LOCATED ON BOTH SIDES AND BACK

the speaker will no longer rotateO NOT F ! ’
&

]

OVERTIGHTEN. J

0.33in. (8 mm)
Note: The¥-24 bolts (D) are used to
lock the speaker parallel to the bracket and
prevent it from being rotated. This is needed
when arraying the speaker for proper align-
ment and when flying in the vertical posi-
tion.

Flying Instructions

NOTE: A maximum of two speakers can

be suspended together vertically using the
M, 200 installation bracket.

1. Referto Figure 1 for the following steps.
2. Remove the paper backing from one of
the friction pads (F) and, making sure the
holes are aligned, attach to the U-bracket (A)
as shown. Attach the second friction pad in
a similar manner.

3. Remove the hole plugs from the ends of ™ g gems, inc.

FIGURE 3 — Wall-Mounting a System 200 ™ Speaker
Using the M 1200 Installation Kit

fl. OmniMount is a registered trademark of OmniMount

2.75 ;n. (70 mm)J

— 5.01in. (127 mm)




Mb200/Mb200WV Installation Kit

FIGURE 4A — Correct and Incorrect Eyebolt
Orientation

1.00 in. (25 mm)

MAXIMUM

LENGTH

~—LOCK WASHER
Lo

CORRECT

FIGURE 5A — Vertical Suspension of a
System 200 ™ Speaker Using
Wb200 Installation Kit

WARNING:

Suspending any object is potentially dan-
gerous and should be attempted only by
individuals who have a thorough knowl-
edge of the techniques and regulations of
rigging objects overhead. Electro-Voice
sanctions suspending the System 200
speakers only when all current national,
federal, state and local regulations are
taken into account. When the System
200™ speaker is suspended, Electro-Voice
strongly recommends that system be in-
spected at least once a year. If any sign of
weakness is detected, corrective action
should be taken immediately.

FIGURE 4B — Horizontal Suspension of a
System 200 ™ Speaker Using
Mb200 Installation Kit (side view)

INCORRECT

FIGURE 5B — Vertical Suspension of Two
System 200 ™ Speakers Using
Mb200 Installation Kit

FIGURE 4C — Horizontal Suspension of a
System 200 ™ Speaker Using
\ Mb200 Installation Kit
(isometric view)

FIGURE 6A — Frame Structure for Horizontal
Array in Position for Assembly

113 UOIE|RISU| 00ZAIN/O0ZAIN

(comprised of M 200 and Mb300

brackets)

FIGURE 6B — System 200 ™ Horizontal Array
(assembled)

Mp300



Mb200/Mb200W Installation Kit

Mb200/Mb200VWV Installation Kit

malfunction resulting from misuse or abuseerty or loss of use. Some states do not allow
of the product; or (e) malfunction occurring the exclusion or limitation of incidental or
Electro-Voice products are guaranteed at any time after repairs have been made taonsequential damages so the above limita-
against malfunction due to defects in mate- the product by anyone other than Electro-tion or exclusion may not apply to yadther
rials or workmanship for a specified period, Voice Service or any of its authorized ser-Rights: This warranty gives you specific le-
as noted in the individual product-line vice representative®©btaining Warranty gal rights, and you may also have other rights
statement(s) below, or in the individual prod- Service: To obtain warranty service, a cus- which vary from state to state.
uct data sheet or owner’s manual, beginningtomer must deliver the product, prepaid, togjectro-Voice Accessoriesare guaranteed
with the date of original purchase. If such Electro-Voice Service or any of its authorized ggainst malfunction due to defects in mate-
malfunction occurs during the specified pe- service representatives together with proof ofria|s or workmanship for a period of one (1)
riod, the product will be repaired or replaced purchase of the product in the form of a bill year from the date of original purchase. Ad-
(at our option) without charge. The product of sale or receipted invoice. A list of autho- gitional details are included in the Uni-
will be returned to the customer prepdid- rized service representatives is available fronform Limited Warranty statement.
clusions and Limitations: The Limited Electro-Voice Service at 1 Telex Drive, For warranty repair or service informa-
Warranty does not apply to: (a) exterior fin- Morrilton, AR 72110(800/685-2606 or FAX tion, contact the service repair department at:
ish or appearance; (b) certain specific items 501/354-1118). Incidental and Consequen- 800/685-2606 or FAX 501/354-1118.
described in the individual product-line tial Damages Excluded:Product repair or . . .
statement(s) below, or in the individual prod- replacement and return to the customer ar For technical assistancecontact Technical
' . . %upport at 800/392-3497 or 952/736-3914,

uct data sheet or owner’s manual; (c) mal- the only remedies provided to the customer

. . i . . .. M-F, 8:00 a.m. to 5:00 p.m. Central Stan-
function resulting from use or operation of Electro-Voice shall not be liable for any inci- dard Time
the product other than as specified in the dental or consequential damages including, '

product data sheet or owner’'s manual; (d) without limitation, injury to persons or prop- S_pecmcatlons subject to change without no-
tice.

Limited Warranty

Specifications:

Wall Mounting Holes:

Three 8-mnt*/_-in.) diameter holes
spaced 20.3cm (8.0 in.) apart (see
Figure 2)

Enclosure Mounting Holes:

Two 8-mm {/_-in.) diameter holes,
top and bottom

Material:

10-gauge cold-rolled steel
Finish:

Black wrinkle powdered coat
Net Weight:

3.40 kg (7.50 Ib)
Shipping Weight:

3.83 kg (8.44 Ib)

Eleclroloice’

12000 Portland Ave. S., Burnsville, MN 55337
0952/884-4051, 952/884-0043 Fax

ACCESSORIES-Mb200 Installation Kit Part Number 532426 - 5/03 Rev D



